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NO.14 + 0.000 - 0.0 - -
NO.14 + 8.000 - 0.0 - -
NO.14 + 11.500 3.5 14.1 7.05 24.7
NO.15 + 0.000 8.5 20.7| 17.40 147.9
NO.16 + 0.000 20.0/ 22.6| 21.65 433.0
NO.16 + 7.000 7.0, 39.0/ 30.80 215. 6
NO.17 + 0.000 13.0/ 24.3] 31.65 411.5
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NO.17 + 0.000 13.0] 18.3] 18.10 235.3
& E 51.2 596. 3




I =

i

Al 4

Al

T Em I EE

EET

HEET

B

B

B

3
]

i

m2

587.9




FEIHEE

Hl =1 WA I () £ &)
BB
OB +
il

Al & E & m &
m m m m2
NO.14 + 8.800 - 10.4 - -
NO.14 + 11.500 2.7 10.4] 10.40 28.1
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R R IR S RAI i fE fig s
(m) (m) (m) (m) (m) (m%) (m) (m) (m%)

NO. 4. 900 0. 495 0. 000
NO. 13. 430 13.716 13.573 4. 900 4. 900 66. 508 0. 495 0. 495 6. 648
NO. 7. 389 7.597 7.493 4. 900 4. 900 36.716 0. 495 0. 495 3. 658
NO. 8. 502 8. 140 8. 321 4. 900 4. 900 40. 773 0. 495 0. 495 4. 208
NO. 7.491 7.261 7.376 2. 607 3. 754 27.690 0. 495 0. 495 3.708
NO. 0. 590 - - 2.607 - - 0. 495 - -
NO. 2.215 2.215 2.215 2.153 2. 380 5.272 0. 495 0. 495 1. 096
BC. 1. 860 1. 860 1. 860 1. 765 1. 959 3. 644 0. 495 0. 495 0.921
NO. 6. 521 6.521 6.521 0. 395 1. 080 7.043 0. 495 0. 495 3. 228

47.998 47. 310 47. 359 3.962 187. 646 23. 467
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T A =( 0.350 0.100 ) X 10. 000 4.500 m2
FebEH A = 0.750 10. 000 7.500 m2
RC-40, t=200
H Hopt A = 0.100 0.550 + 0.250 X ( 0.550 + 0.100 )/ 0.136 m2
t=10
FEmE IR A = 0.750 10. 000 7.500 m3
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H m 5 m 36.7
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B m i m 16. 1
=1 m 16. 1
& 1 NO. 15+2. 7 m 3.5
H m 5 m 3.5
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HERR
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Eilp o
INEY
A'=(010 x 2 + 0100 x 1.077 )x 10.000 3.077 m2
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N = 10.000 / 0.500 x 2 40.000 #
EAM, BRAavsYy—rEIJoy s EICTERE




ftiE. 2

i s

10m=1)

7 [0 (]

§=1/20

H—ILT e h—

-
WI0-60am-0500 ™S

t=3. 2mm W=500mm

g 00

PUI-300 (JIS A 5372 138
i kA

R =

& = = % 2
#HEgmaro)—+
UZ1138300
Yy k- EBYLE
&t L=0.6m/& | N = 10.000 / 0.605 16.529 {&
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T
PRYE V = 1.000 x 1.400 x 42 = 58.800 m3| 58.8
E®a0)—+F
18-8-40BB V = 1.000 x 1.400 x 42 = 58.800 m3| b58.8
Xit
[ N=10) w = 93.000 x 4.00 = 372.000 kg| 372.0
xE N = = 21.000 K| 21.0
HWESE W = 372.000 x 21 /1000 = 7812 t 1.8
TBOIR
¥a#4t=50mm A = 3000 x 1.800 x 20 = 108.000 mi| 108.0




I £ B & & & &
IiE No. 1
X5 HEINE HE | B | BEMHY |EEV| EEE | BEE | FEAH e
fE X S|imm%| B % | 30/19
fEEIT A—F>hv r@H.8) | 1,232.700] m3 300.000{ 2.000 2.050 3.240 I-1-Q@-4
FEERT YLEm 596.300| mi 140.000| 2.000 2.130 3.360 I-12-0-1
EET EFHMm 587.900| mi 1,100.000{ 2.000 0.270 0.430 I1-12-@-13
JOov /BT avyy—+Javy 202100 m 11.000| 2.000 9.190| 14.510 1-12-@-24
HKEEYMT PU3-B300-H300 50.600] m 50.000] 2.000 0.510 0.810 I1-12-2-24
14.150| 22.340
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Rl T F—Trhv r@H.8) | 1,232.700] m3 300.000f 2.000 2.050 3.240 I-1-@-4
FEERT YiEm 596.300( m 140.000] 2.000 2.130 3.360 I-1-6-2
JoyvoiE 202100 m 11.000| 2.000 9.190| 14.510
13.370] 21.110
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